1 The figures in the first row form a series. Pick out one figure from Ulc aiswe

figures in the second row that will continue the series :
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2, The first unit contains two figures and the second unit one figure and a question

mark. You are to find out which one of the answer figures marked (&) to (D)

should be in place of the question mark ?
' llk. ?
% [0S 1
o >4
%4.' '}Z!\DD S ;EE

(A) (B) (C) (D}

: it : 3
mmﬁﬁzwﬁﬂ%mmimnwmﬁmwm-ﬁ%mm
% T T ¢ (A) 7 (D) ww fafm sw engfwd H R R spfa weA-Tag

@® wE T e Jifed ?

el sde Al -

(A) (B) (C) (D)

T.B.C. : RT/3/2025/1—D 3 FRL
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This question is based on the reflections of the figures given

- se the correct
kept horizontally below the figures and then kept on its side. Choo

-
L

(A) B  © D _
I S DAY et w9 ¥ 7@ 70w o A § 7w emphedt F At
W I ¥ ik fwt 3R sreht aow @ T ) @@ o e

E -
I

(A) (B)

Which letter will be the midway between 6th letter from left and 14th letter

from the left in the English alphabet ?
(A) I (B) J

(C) K (D) L

éﬂﬁmwﬁmﬁ%ﬁ%mmaﬂtmﬁmﬁmmﬁﬁﬂﬁ%mmﬁm ?

(4) 1 (B) J
(C) K (D) L

T.B.C. : RT/J/2025/11—D 4
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G.

T.B.C. : RT/AJ/2025/11—D

How many circles are there in the figure ?

(A) 21 (B 19

(C) 18 (D) 17

Number of letter skipped in between adjacent letters in the series, starting from
behind decreases by one. Which of the following senes observes this as rule ?
(A) EMPTY (B) IJKOT

(C) HJMQT (D) DFIJK

SEen § T8 | YE o9 arnl JEA FE F A

TEZ T ALT F OGN TE G WL

ﬁﬁﬁ%]ﬁﬁmﬁf{{mﬂ] ‘iﬁam 99 1 9T H o8 7
(A) EMPTY (B IJKOT

(C) HJIMQT (D) DFIJK
P.T.O.

on
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2 i llowing lettor series
7. What comes in the place of question mark (9) in the fo fl

PBA, QDC. RFE, 7
(A) SHG (B) OAB
(C) TJI (D) ULK
fr=fafga R sf@en § wyi-fog (7) & o W I !
PBA,-QDC, RFE, 7
(A} SHG (B) OAB
(C) TJI (D) ULK
8. \Tn each of the following letter series, some of the letters are missing which are given

in that order as one of the alternatives below it. Select the correct alternative :

a_cacbe_baca__b

&

(ﬁ)bﬂhﬂ y (B} h-ﬂbﬂ
€C) abab M cach

frfefen w&% iR @ 4, 9 W g9 € 9 W Ry w e § ¥ w

% w0 H 3 wn 8 Re 1 % w0 Teew w1 w2 .

a_cacbe_baca_ _b
ar Rrba B) babe
(C) abab M cachb

T.B.C. : II/3/2026/I1—D 8
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9.  Mr. and Mrs. Sharma has two children Asha znd Shashi. Shashi is married to
" E————

e p— s

R,.,Ei.lf."-—a: vho is daughter of Mr. Suresh AMahajan, who is married to Reeta. Sonu

and Rocky are the children Gfgx;;ﬁand Reeta. Uma a::diSudha‘ are the daughters

of Shashi and Badhz. What is the relation of Suresh to Sudha s

(A) Brother (B) Uncle

() Muternal Grandiather (D) Nicee
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s g A g A AW @ g=t ¥
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fh} ”I“ﬂﬂtr‘r sh! Ligprke

{o4¥cs ire Mieow

("} Matermal Grandisihes

e Arit said, “She is the sister of th

A 2 :..u--r,

10,  Tooking af a swemas &

[ - T
Fo~ :::-r;:r 18 13“__ e 1 :ttL :rf’i tn .“'?-”"“l f
- ]

hurbiand aof my e

(A} Nicege (31 Daupghter

o R
(Y Sister (i) Wi

o 3 TR wmwmnﬁmm%

iy - i il : = e
B e W Ty — .:*‘-i-._.‘_t*ﬁl s, ._-:.:#_!11‘ Dy T " J".l‘“{r

SN TR M dod WE

- - i e -1 ;
= o T mwmwd &

“;—— ﬁﬂ’-'"-'
Fo ALy Snt ®

(A) Niece (B) Daughter

M) Wile

)y  Sister
“ pP.T.

T

T.B.C. : RTA /202311—D
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11,

12

A total of 324 coins of 20 paise and 25 paise make a sum of Is. T1. The numbe,
of 20 paise coin is ;

A) 120 (B) 124

© 144 @ 200 |
zni‘rﬁzaﬁtzsﬁﬁ?ﬁ@nqﬁaﬂﬁaﬁaﬁqﬂﬂwﬁﬁﬁi 20 Y@ & R 5
e ¥

(A) 120 | (B) 124

(C) 144 (D) 200

The following questions consist of two words each, that have a certain relationshi;

with each other, followed by four lettered pairs of words. Select the lettered pai

that has the same relationship as the original pair of words.

Umpire : Game

(A) Prodigy : Wonder (B) Chef : Banquet

(C) Legislator : Election (D) Moderator : Debate

frefafan @ # -3 1= ¥, e - ¥ & Tifi=g 96y ¢, 9% 9. v=

& TR SR LW &1 TW MR W W 997 Hiod ot Tm vk & gm & ww
HEy ¥

Umpire : Game

{(A) Prodigy : Wonder (B) Chef : Banquet

(C) Legislator : Election (D) Moderator : Debate

e e e P e Ay et TR — ]
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13. F i icn
rom the given three positions of a single dice, the number of dots at the face

opposite to the face having 3 dots is :

(A) 2
(C) 5

-

I

dnda’
[l {181

(B) 4
(D) 6

@Wﬁﬁﬂﬁﬁﬁﬁ@%ﬁﬁjﬁaﬁmﬁm%mwmﬁgﬁﬂ

e &
(Aa) 2
(Cy &

14.  All the surfaces of a cube of 15 cm

it is cut into smaller cubes of 3 em side. Th

[ [11
{(B) 4
(M 6

side nre pninted with red color and then

on, how many smaller cubes are

there having one surface painted with red color ?

(A) 18
(C) 36

(B) 24
(D) 54

15 cm 3 ae T& LmEﬁﬁ'-ﬁ?ﬁ-ﬁ‘qﬁ'n1't‘t%ﬁﬁﬁﬂﬂ%ﬁﬂm'sﬁ3cm

gmﬁﬁ%ﬁﬁmﬁmﬂm?mﬁmmmgﬁﬂmwwwm

[T E ?
(a) 16

(Cy 36
T.B.C. : RT/J/2025/11—D

9

(B} 24

(D) o4
PO,
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‘Cup' is related 1q Crockery’ in the same way as ‘Pen’ is related to :

(A) Paper (B) Books

(C} Station ery (D) Nib

’m'%m‘ﬁmﬁ"ﬁ‘%ﬁa%ﬁmm'ﬁ?'#ﬁm%:

(A) Paper 3 (B) Books &

{C} Stationery 3 (D) Nib =

16.  Three friends had dinner at o

restaurant. When the bill was received, Amits

- 1 -
Fi 3 08 much as Veenn paid and Veena paid 5 as much as Tanya paid
What fraction of the bil] did Veenn pay ?

1 3
(A) 3 {B} 11
12 b
(C) 13 (D) R
iﬁqﬁﬁﬁ%tﬁ%ﬁﬁaﬁmﬁmlmﬁa%zﬁmmﬁﬁmﬁwmg
& g e . 1 2 . )
memmwahﬂmmawﬁwmqﬁamﬁﬁﬁmaﬁr
TR T 7
1 3
(A) 3 (B) 13
12 1
(C) 13 (D) r

T.B.C. : RTA/2025/1I—D
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5.

18.

In a club, 20% of the members own two cars each, 40% of the romaining own

three cars each and the remaining members own only one car each. The percentage
of the total members owing one car each is :

(A) 40 (B) 48

(Cy 54 (D} 60

T %o T, 20% Tl & g 9-3 F 5, T 40% & TE GH-0F i § a9 9w
& E AT THE-IF FN 51 UH-TF ST T AN E9 TRE F wwE fmen v 2

(A) 40 (B) 48

(C) 64 (D) &0

In an 1Pk @ockel match, five batsmen A, B, C, D and E scored an average of
36 runs. D scores & more than E, E scores 8 fewer than A, B scores as many
as D and E combined, and B and C scored 107 between them, How many runs
did E scores ?

(A) 62 (B) 45

(Cy 28 (D) 20

w smetiTe feee &9 # whe 9e9amt A, B, C, D @ E 3 edf| 36 W @) D
IERAFNRI G T EFATSFI T EM BADARE § ¥90 @R &
qa T 998, 3R B X ¢ ¥ feet 107 @ I E 7 fF91 @ =0 ?

(A) 62 (B} 45

(C) 28 (D 20

T.B.C. : RT/J/2025/11—D 11 PO,
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19, Ineach of the following questions, a set of four figures marked 1, 2, 3 and 4 formiy

a figure series js given, out of which the last one is missing. Identify ?’ﬂm th
four answer {igures, the one which would replace the question mark (2).

AN -~
(A) l\ B T[‘
) .,__u (D) ]I\

ﬁﬁﬁﬁ@ﬁﬁ?ﬁ%ﬁﬁ],z,aﬁnqﬂaﬁmma@ﬁﬁiﬁﬂﬁwmﬂ
“.,:ﬂqmmmmﬁ,m#ﬁﬁm ampfa = ¥ 9w S i)
W;ﬂﬁﬁﬁimﬁﬁﬁ?m-ﬁm(?}?ﬁmmmﬂ

=N

1 P, .
@) E[ () ‘T_ﬂ
(C) ;__ll (D) dﬂ

20. In each of the following questions, there is a certain relationship between ty

A1

.*_

(A} Granite (B) Basalt
(C) Anthracite 3 . (I} Coke
ﬁﬁﬁmﬁﬁﬁﬂ?ﬁﬁmﬁg::lﬁﬁmﬁﬁﬁqWﬁ%ﬁﬁwﬁﬁaﬁﬁﬁqﬁa
W RE () W& 7= g ql%‘ﬁfﬁﬁqﬁqﬁﬁﬁﬁﬁﬁ% )

S oLl . ok ma <o o = OF AR IR G % R

W W S W W § gy emmmmﬁamwaﬂ%mﬁﬁmﬁﬁ%
Peat : Lignite - Bituminous : ?

(A) Cranite (B) Basalt

(C) Anthracite M) Coke

T.B.C. : RT/J/2025/11—D 19
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21.

22.

23.

24,

25.

In MS-DOS 6.22, which part identifies the product uniquely ?
(A} MS (B) DOS

(C) MS-DOSs (D} 6.22 Landscape

A computer keeps shutting down unexpectedly, Which hardware component is
most likely to be causing this issue 7

(A) RAM (B) CPU

{(C} Motherboard (D) Power Supply
What is the primary function of an operating system ?

(A) To mnnage nll rerources

(B) To diuplay graphics

(C) To excecute user command

(D) None of the nbove

Booting is 0 ..o, SCQUEHCE,
(A) Secondary (B) Startup
(C) Axillary (D) Primary

Which software is used to browse the internet ?

(A) Antivirus (B} Web Browser

(C) Operating system (D) None of these

T.B.C. : RTAI/2025/1—-D 13 P.T.0,
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F '?
26G.  What is an example of open-seurce software ¢

(A} MS Office (B) MS Excel
{C) Google chrome (D) Linux
27.  While warking with MS-DOS which command transfers a specific file from one
disk to another ?
(A} Copy (B} Disk-Copy
{C) Time (D} Rename
28.  Which command lists the contents of current directory of a disk ?
(A) Copy (B} Tree
(C) Cd (D Dir
29.  Which command is used in Windows to view the list of running processes 7
(A) Tasklist (B) ps
€ Is (D) jobs
40.  Which Linux command is used to display the current working dir cctory ?
“ {A) pwd B) s
{C) cd @ ps

T.B.C. : RT/AJ/2025/1—D 14
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31.

32.

33.

3.

3b.

A program is running slowly on a computer with sufficient RAM, Which operating

system feature might be causing this issue ?

(A) Virtual Memory {B) Task Scheduling
(C) Device Drivers (D) Disk clean up

Which command is used to delete the directory that is empty ?
(A) Del * * (B) RD

(C) Erase (D) ND

Which command is used to copy all files from drive®A with extension .txt to

the currently 7

(A) Copy @i\ .txt () Copy .Axt o

(C) Copy " Axt A (M Copy " txt all.txt
Multiprogramming system usually :

(A) Are easier to develop than sinple programming system
(B} Execute each job faster

(C) Execute more jobs in the snme time period

(D) Are used only one large mainframe computers

What type of memory is volatile and loses its contents when power is turned

off ?
(4) ROM (B} Flash Memory
(Cy EPEOM (M RAM

T.R.C. : RT/J/2025/11—D 15 P.T.0.
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36.  Which of the following describes the function of the motherboard 1n 2 comput
system ?
(A) Stores Data
(B} Process Instruction

1 3 . ¥ ﬁ_ -[:ﬂm ﬂ'nentﬁ
(C) Connects and allows communication between yiriou p

(DY Display

37. What is the base of the binary number system ?
(A) 2 (B) &
(C) 10 (D) 16

38. In the hexadecimul number system, which digit follows g ?
(A) A (3 B
) C (m D

39. Convert the binary number 1101 te its decimal equivalent.
(A) 10 (B) 11
(C) 12 M) 13

40.  What is the hexadecimal representation of the binary number 1111 %
(A) S (B) A
() C @ F

T.B.C. : RT/J/2025/11—D 15
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41.

the first byle of memory ?

(4) 00000001 (B) 00000000

(C} 11111111 (D) 10000000

42,  Transistor based system were dovelopad in

------------------------

(A) Tirst (B} Second

(C) Third (D) Tourth

43. USB is the acronym for ;
(A) Uniform Solution Bus
(BY Unigue Service Bus
(C) Universal Scrinl Bus
(D) Universal Secgadoihs
44, A torabyte represenls o mo e, byles.

(A) 1 million (B} 1 billien

(C) 1 kilobyle (31) 1 trillion

The brain of any computer system is -

(A) ALU (B} Memory

Gy CPU (D) Contrel Unit

T.B.C. : RTAI/2025/11—D 17

generation.

Which of the following is the binary represenlation of the command to access

BT


https://dailyhimachalgk.com/

. Wmen LU LY MEIREWIELE 18 WLHIRLEE dek st

(A} PASCAL () Mnachine Language
(C) CI/C++ (D) COBOL
47.  Speed of a processor is mengured 1N e RO
(A} Mbps (B3) MHz
(C) Bytes por second (DY None of these

458. What is full form of VDUs ?
(A) Visual Display Unit
(B) Vertical Display Unit
(G} Video Display Unit

(D} None of the above

48.  For renaming a file in Windows we usually use :
(4) PFile Explorer (B) File Manager
(C) File Directory (D) None of thesa
50.

How many ways 4-bit binary can he represented 7

a) 16 (B) 10

T.B.C. : ] UTA12026M1—D 18
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1. In the following cirecuit if A = 1, B = 1 and © = 1, what will be the value of

J’J. and }'E ?

IIE.L - I"‘--_

4) (0, 1 (B) {0, 0
(Cy (1, 1) (Dy (1, 0)
52.  For the given dingram, if A = 1 and B = 1. what will be values of ¥,
and y, ¥
A [ [ _—
--"'-‘ _— -
‘\—-f-
B o— D*‘-"l'
(A) (0, 0) i3y (1, 0
(Cy (0, 1) Oy (L, D

B3.  What does HTTP stand for ?

(A} ‘Hyper Text Transfer Protacol

(B} Hyper Text Transmission Protocal

(C) Hryper Transfer Text Protocol

(D) None of the zhove

T.B.C. : RT/J/2025/11—D 19

P.T.O.
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54, What is the smallest unit of data ?
(A) Byte (B) Bit
(C) Nibble (D) None of these

55.  What does LAN stand for ?
(A) Local Area Network (B) Limited Area Nebwork
(C) Local Access Network (D} None of these
66.  What are the processes to divide into track and sector ?
(A) Tormatting (B} Crashing
{C} Booting (D) Deleting
67.  To enter BIOS set up, the oceenren.. kows it UBod:
(A) T2 (> Ege
(C} F10 (D) F3
5B.  Which of the following is the lurgest unit of computer memory stornge
{A) GBH (B) KB
(C) MB (D) TB
59,  Which is [astest memory from the following ?
(A) Hard Disk (B) DVD ROMs
(C) Static RAM (D) Cache Memory
60.  Which of the following is used in main memory ?
(A) DDR (B} DRAM

(C} SRAM (I} PRAM
T.B.C. : RTAJ/2025/11—D 20
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61.

B2.

63,

64,

G5.

The Boot sector files of the system are stored in which computer memory ?

(A) RAM (B) ROM

(C) Cache (D) Register
What is purpose of using subnet mask for a network ?
(A) To connect to the internet

(B} For encryption

(C) To dive an IP address into network and host

(D} To moniter traffic

Which of the following is n valid IPwd nddress 7

(A) 192.168.1.1 (B} 256,25H6.256.256
(C) 92.168.256.1 (D) 124,256.178.90
You have been asked to conneet
step for troubleshooting 7

(A} Checking network eables
(B) Replocing the computer system

(C} Switch/hub

(D) Both (A) and (O)

What does the acronym URL stand for ?
(A) Uniform Resource Locator

(B) Universal Resource Locator

(C) Uniform Residence Locator

(D} None of the gbove

T.B.C. : RT/J/2025/Ti—D 21

to the internet, which one is your beginning

E.T.0.
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66.

67.

68.

G9.

70.

T.B.C. : RT/J/2025/T_p

What is utility of DNS ?
(A) To store website data

(B) To host websites
(C) To translate domain names into IP addresses

(D) To transfer data

Which of the following is a widely used of HTML ?
(A) To create website

(B) To manage database

(C) To program operating system

(D} To design graphics

Find the decimal equivalent of (101101,10101)~ 2 :

(A) 26.365 (B) 38.234

(C) 45.6586 (D) 49.234

Represent the +7 and —7 in one’s complement.

(A) (0100) and {1011) (B) (0111) and (1000)

(C) (1011) and (1000) (D) (1000} and (1000)
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71,

72,

73.

T4.

76,

76,

Which of the following is a valid identifier in € 7

(A) Ist nam (B) _name
(C) $name (D) #name
What will be the output of the following C code ?

int main{)

[
char ¢ = A%

printfli*%d”, c);

return 0;

}

(A) 65 (B) 0
(C) A (I e

What is the resull of the logical oxpression (1 && 0) 7

A 1 (B) 0

(C) True (D False

Whicly operator has higher precedence, '+ or ™7 7

Ayt {3} same precedence

(C) =+ (1) WNone of these
Soemaphores are used to solve the problem of ol

(A) Mutueal exclusion (B) Process synchronization
(C) Both (A} and (B} ([¥) Recovery

The process ready and waiting to be executed, are kept on a list, called as ..............
(A) Process queue (B) Job queue

(C} Ready queue (D} Execution quetre

T.B.C. : RT/AIf2025/11—D 23 P.T.0.
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the possible reasons ?

(A) Large image/multimedia files
(B) Incorrect HTML tags

(C} Too many tasks running
(D} Both (A) and (C)

78. The output of Python code will be :

(A) 20 (B) 14
(C) 24 (D 10
79,  What will be the output of the following code in Ce+ 7
Int x = 5;
A+ =3
Cout 2« x:
Ay 3 By &
€ 8 Dy 10

B Btk IS s tvpe of dntn atructure.

(A} Linear (B} Non-linear

(C) Non-consecutive (D) Nene of these

§1. POP3 Post Office Protocol 3 is used for :
(A) Transfer files, videos (B) Web page Ipading

(C) Recgeiving e-mails {D} None of thesgs

T.B.C. : RTAJZ025T1—D 24
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82, Which F.}TE of Cat-5, Cat-3E and Cat-6 cables ?
(A) Coaxial eable
{(B) Shielded twisted pair cable
(C) Fiber aptic cable
(D} Unshielded twisted pair cable

83. What is the term used for a Cyber-security nttack that create a disastor ?

(A} DDoS attack {B) _~Betnet attack
(C) Zero-day attack (1)} Spenr phishing altack
84. The function of aMODEM is oo

(A)  Encryption and Decryption
{B} Convert Voice to data
(C) Convert analeg to digital signal and vice versa

(D) None of the above

83. IPv6 addresses have a size of :

(A) 64 bits (B) 128 bits
(C) 256 bits (D) 512 bits
25 P T.0

T.B.C. : RT/AN20251—D
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86.

87.

88,

89.

90.

2 2 - 7
What is the purpose of Entity-Relationship (ER) diagram :

{A) For syntax of SQL

(B) Modelling physical database storage

(CY TFor illustrating database relationship

(D} Monitoring database performance

Which is a Search Engine ?

(A) Google {B} Opera

(C} Yahoo (M) All of these
What does Ce stand for ?

(A} Common copy (B) Carbon copy
(C) Correct copy (D) None of these
The cloud computing features are generally :

(A} Large networks access (B) Security

() Availability all times (DY Al of these
A Computer Virus is a :

(A) Hardware (B) Software

{C) Firmware (I} Freeware

T.B.C. : RTAI/2025/11—D 26
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91.

02.

93.

T.B.C, : RTM/202511—D

How much angular distance will be covered by the minute hand of a correct
clock in a perjod of 1h 40 minutes 9

{A) 480° (B) 540¢

(C) BoOO® (D) 630°

UF WA g oW fEr ow ogd 1 W 40 fee w1 e A feedl v @

Exuii
(A)  480° (B) 540°
(C) 600° (D) 630"

How many times do the hands of n clock coincides on n day 7

{A) 18 (1 20

(C) 22 iy 24

Qo ﬁ'—T ﬁ i !; "_-rﬁ -:‘_‘_— '-1: llr'l‘-". "':b YaF fT-'"'ﬂi‘l' e -5'
(A} 18 By 20
(C) 22 (D 24

If 1st January, 2001 waes Monday, then what day of the week wos it on 31st

December, 2001 ?

(A) Wednesday (B) Fnday

(C) Saturday (D} Monday

gfe 1 F950, 2001 =1 weac @, o 31 fTwen 2000 w1 owww = Fem @ ?

(4) TR (B) {&arx
(C) wiFER (D) HER
27 P.T.0.
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94. The missing number in the series 71, 59, 48, 38, 29, ? is :
(4) 12 (B) 18
(C) 20 D) 21

F@e 71, 59, 48, 38, 29, 2 F §w Tom = £ ?

(A) 12 (B) 18
(C) 20 M) 21
95. The wrong number in the series e By 612 AT 19,28 4
(A) 12 (B) 17
(C) 19 (D 23
I 3, 5, 7, 12, 17, 19, 23 § TEaGie wm 2 )
(A) 12 (BYy 17
(Cy 19 ,. (D 23
96.

The wrong number in the sories 1, 5, 5.9, 711, 11, 15, 12, 17 is :

4

(A} 11 (B 12

(C) 15 (D} 17

&1, 5, 5, 9, 7, 11, 11, 15, 12, 17 3 om Hem w3 9

(4) 11 (B) 12

T.B.C. : RTA/2025/1—D 28
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Among A, B, C and 1), B is henvier than A and € but ¢ is taller than him.
2 iz not as tall as C while A i8 the shorlest, C is not ns hieavy ns A. D is heavier
thon B but shorler than him. Wha is the heaviest ?

(A) A (B) D

(C) C (D} D

A B,CarD#AB, AMCA W ¥ AT C 358 @1 1 D, C &A@ &3
34 & wafs A 590 9@ 81 C, A faam will 8 €1 D, B 9 9 ¢ @ 38 @
Fiowad oyl B8 F 7

(A} A (B) B

(C) C D D

The age of Ram is twice the age of Shyam and half the age of Schan, Shyam

is elder than Mohan, Who is the eldest ?

(A) Mohan (B} Ram
(C) Sohan (D) Shyam

TH %1 39 746 1 30 A I SR U F 39 8 IO ¥, vom O | 99 ¥ Wl

T FH T 7
(A) =3 (B) T
(C) T Ny wm

T.B.C. : RT/J/2025/11—D 20 LT
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100.

A class of girls stands in a single line. One girl is 19th in order from both the

ends. How many girls are there in the class ?
(A) 36 (B) 37

(C) 38 (D) 38

i - - . A5
aEfEdl St T wa Q@ W § 53 1 Om agwl aFl e 9 194 TE W el B
u fral ogfedl & 2
(A) 36 (B) 87

(C) 38 (D) 39

In a quoue of boys, Sandeep is 10th from the left and Lalit is 5th from the right.
The places of Sandeep nnd Lalit are interchanged, I the new position of Sandesp
15 15th from the left, then the new position of Lalit from the right is :

(A) 10th (B} 1llth

(C) 12th (D} 13th

T W WS TR AW S ¥ 105 =W W F A aem od 3 5§ &
e e

ﬁﬁ'ﬁ Cﬁ'EI ofleia & <417 S8 H 95: LU 3 e | T 'l-.=:'|q w1 TH =T aiﬂ:i? 15{T %
- . i
ﬁl ﬂm‘, i-\ Silgid =l =] =1+ =49l '% .j

(A3 Ao ®) 1

(OF @ 3t

T.B.C. : RT/AJ/2025M1—D 30


https://dailyhimachalgk.com/

